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1. (…) ÜÈÛµÛéýÛ¶ÛÛ ¸ÛóïõÛÁõÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 7 

 (¼Û) ›Ûé ïõÛéˆ …éïõ ÈÛÍ©Ûä ¾ÛÛ¤éø …ÛÈÛïõ ÜÈÛµÛéýÛ R = 125x – 
3x2

2  ÐüÛéýÛ …¶Ûé šýÛÛÁéõ ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û x = 20 

…éïõ¾Û ÐüÛéýÛ ©ýÛÛÁéõ ïäõÅÛ …ÛÈÛïõ ÉÛÛéµÛÛé. 7 

…¬ÛÈÛÛ 

  ÜÈÛïõÅÛ¶Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ©Ûé¶ÛÛ Ü¶ÛýÛ¾ÛÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 14 

 

2. (…) Ü¶ÛýÛ©Û ÍÛ×ïõÅÛ¶Û¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé. 7 

 (¼Û) AB ©Û¬ÛÛ BA ÉÛÛéµÛÛé.  7 

  A = 
⎣
⎢
⎡

⎦
⎥
⎤2 5

6 8
  B = 

⎣
⎢
⎡

⎦
⎥
⎤1 0

0 1
  

                        …¬ÛÈÛÛ 

 Ü¶ÛÊ˜ÛÛýÛïõ¶ÛÛ Ü¶ÛýÛ¾ÛÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 14 

 

3. (…) ›Ûé A …¶Ûé B ¼Ûé ÍÈÛ©Û×ªÛ –Û¤ø¶ÛÛ…Ûé ™öé …¶Ûé P(A) = 1/2, P(B) = 1/5 ÐüÛéýÛ ©ÛÛé P(A∪B) ÉÛÛéµÛÛé. 7 

 (¼Û) ¸Ûó©Ûà¸Û ÍÛ×½ÛÛÈÛ¶ÛÛ ¾ÛÛ¤éø ¼Ûéˆ¡ö¶Ûä× ¸Ûó¾ÛéýÛ ›÷¨ÛÛÈÛÛé. 7 

…¬ÛÈÛÛ 

 ÍÛ×½ÛÛÈÛ¶ÛÛ¶Ûà ÈýÛÛ”ýÛÛ ¶Ûà˜Ûé¶Ûà Áõà©Ûé …Û¸ÛÛé : 14 

 (i) •ÛÛÜ¨ÛÜ©Ûïõ 

 (ii) ÍÛÛ×Ü”ýÛïõàýÛ 

 (iii) ¸ÛæÈÛÙµÛÛÁõ¨ÛÛýÛäî©Û 
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4. ¸Ûó¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û Š¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 

…¬ÛÈÛÛ 

 (…) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé. 7 

 (¼Û) ¸ÛÛñýÛÍÛ¶Û ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ›÷¨ÛÛÈÛÛé. 7 

 

5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ¾ÛÛªÛ ©Ûé¶ÛÛé ›÷ÈÛÛ¼Û (a, b, c, d) ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ÅÛ”ÛÛé : 14 

 (1) ›Ûé g(x) = 3x – x3 ÐüÛéýÛ ©ÛÛé g(1) = ________ …¶Ûé g(0) = ________. 

  (a) 2, 1 (b) 1, 2 

  (c) 3, 1 (d) 0, 2 

 (2) ›Ûé y = cxn ÐüÛéýÛ ›÷é¾ÛÛ× c = …˜ÛÇ ™öé ©ÛÛé 
dy
dx = ________. 

  (a) cnxn–1 (b) cnxn 

  (c) cnxn+1 (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (3) ›Ûé y = x4 – 4x3 + 16x + 2 ÐüÛéýÛ ©ÛÛé 
dy
dx = ________. 

  (a) x4 – 12x + 16 (b) 4x3 – 12x2 + 16 

  (c) x5 – 12x4 + 16x (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (4) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶Ûä× ÍÛæªÛ ™öé ? 

  (a) η = 
dp
dx 

. 
x
p   (b) η =  – 

dp
dx 

. 
x
p  

  (c) η =  – 
dx
dp . 

p
x  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (5) A = 
⎪
⎪
⎪

⎪
⎪
⎪1 3

5 2
 ÐüÛéýÛ ©ÛÛé ©Ûé¶Ûà Ýïõ¾Û©Û = _____ 

  (a) 13 (b) – 13 

  (c) 5 (d) 0 
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 (6) ⌡⎮
⌠.

.e
x dx = __________. 

  (a) ex (b) ex+1 

  (c) eax (d) e–x 

 (7) ¼Ûé Ü¶ÛÁõ¸Ûé“Û –Û¤ø¶ÛÛ…Ûé ¾ÛÛ¤éø ÍÛÁõÈÛÛÇÛ¶ÛÛé Ü¶ÛýÛ¾Û P (A∪B) = _________. 

  (a) P(A) + P(B) (b) P(A) + P(B) – P(A∩B) 

  (c) P(A) – P(B) + P(A∪B) (d) P(A) × P(B) 

 (8) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÛæªÛ ™öé ? 

  (a) P(x) = nCxp
xqn–x (b) P(x) = nCxp

rqn 

  (c) P(x) = px + qn–x (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (9) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¸ÛÛñýÛÉÛ¶Û ÜÈÛ©ÛÁõ¨Û¶Ûä× ÍÛæªÛ ™öé ? 

  (a) p(x) = 
emmx

e !   (b) p(x) = 
emm–x

x !   

  (c) p(x) = 
mxex
x !   (d) p(x) = 

e–m.mx
x !   

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¸ÛÛñýÛÍÛ¶Û ÜÈÛ©ÛÁõ¨Û¶Ûä× ¸ÛóÛ˜ÛÅÛ ™öé ? 

  (a) e (b) m 

  (c) q (d) p 

 (11) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ¾ÛµýÛïõ, ¾ÛµýÛÍ¬Û …¶Ûé ¼ÛÐäüÅÛïõ ÍÛ¾ÛÛ¶Û ÐüÛéýÛ ™öé ? 

  (a) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û  

  (b) ¸ÛóÛ¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û 

  (c) ¸ÛÛñýÛÍÛ¶Û ÜÈÛ©ÛÁõ¨Û 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (12) ¸ÛóÛ¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ÜÈÛÌÛ¾Û©ÛÛ ______ ÐüÛéýÛ ™öé. 

  (a) 1 (b) α 

  (c) 0 (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
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 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× …éïõ¾Û ËÛéÜ¨Ûïõ ™öé ? 

  (a) 
⎣
⎢
⎡

⎦
⎥
⎤0 1

1 0
  (b) 

⎣
⎢
⎡

⎦
⎥
⎤1 1

1 1
  

  (c) 
⎣
⎢
⎡

⎦
⎥
⎤0 0

0 0
  (d) 

⎣
⎢
⎡

⎦
⎥
⎤1 0

0 1
  

 (14) A = 
⎪
⎪
⎪

⎪
⎪
⎪1 3 5

0 2 7
6 4 8

 ¶Ûà Ýïõ¾Û©Û = _________. 

  (a) 54 (b) – 54 

  (c) 45 (d) – 45 

  
____________ 
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1. (a) Explain the types of function with illustrations. 7 

 (b) If the revenue function of a commodity is R = 125x – 
3x2

2  , find the revenue for 

demand x = 20.  7 

OR 

  Give the definition of derivative and explain the rules of differentiation with 
illustrations.  14 

 

2. (a) State the properties of definite integral. 7 

 (b) Find AB and BA.  7 

  A = 
⎣
⎢
⎡

⎦
⎥
⎤2 5

6 8
  B = 

⎣
⎢
⎡

⎦
⎥
⎤1 0

0 1
  

OR 

 Explain the rules of determinants with illustrations. 14 

 

3. (a) If A and B are two independent events and P(A) = 1/2, P(B) = 1/5, find P(A∪B). 7 

 (b) State Bayes’ theorem at inverse probability. 7 

                        OR 

 Give the following definitions of probability : 14 

 (i) Mathematical 

 (ii) Statistical 

 (iii) Axiomatic 
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4. Write a note on Normal distribution. 14 

OR 

 (a) State the properties of Binomial distribution. 7 

 (b) State the properties of Poisson distribution. 7 

 

5. Choose the right answer and write only its No (a, b, c, d) in your answer sheet. 14 

 (1) If g(x) = 3x – x3, then find g(1) = ________ and g(0) = ________. 

  (a) 2, 1 (b) 1, 2 

  (c) 3, 1 (d) 0, 2 

 (2) If y = cxn; c = constant, then find 
dy
dx = ________. 

  (a) cnxn–1 (b) cnxn 

  (c) cnxn+1 (d) None of the above  

 (3) If y = x4 – 4x3 + 16x + 2, then  
dy
dx = ________. 

  (a) x4 – 12x + 16 (b) 4x3 – 12x2 + 16 

  (c) x5 – 12x4 + 16x (d) None of the above  

 (4) The formula of elasticity of demand is 

  (a) η = 
dp
dx 

. 
x
p   (b) η =  – 

dp
dx 

. 
x
p  

  (c) η =  – 
dx
dp . 

p
x  (d) None of the above 

 (5) A = 
⎪
⎪
⎪

⎪
⎪
⎪1 3

5 2
 find its value ? 

  (a) 13 (b) – 13 

  (c) 5 (d) 0 
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 (6) ⌡⎮
⌠.

.e
x dx = __________. 

  (a) ex (b) ex+1 

  (c) eax (d) e–x 

 (7) The additional theorem of two independent events is, P (A∪B) = _________. 

  (a) P(A) + P(B) (b) P(A) + P(B) – P(A∩B) 

  (c) P(A) – P(B) + P(A∪B) (d) P(A) × P(B) 

 (8) The formula of Binomial distribution is 

  (a) P(x) = nCxp
xqn–x (b) P(x) = nCxp

rqn 

  (c) P(x) = px + qn–x (d) None of the above  

 (9) The formula of Poisson distribution is 

  (a) p(x) = 
emmx

e !   (b) p(x) = 
emm–x

x !   

  (c) p(x) = 
mxex
x !   (d) p(x) = 

e–m.mx
x !   

 (10) The parameter of Poisson distribution is 

  (a) e (b) m 

  (c) q (d) p 

 (11) In which distribution the mean, median and mode are equal ? 

  (a) Binomial distribution  

  (b) Normal distribution 

  (c) Poisson distribution  

  (d) None of the above 

 (12) The skewness in normal distribution is 

  (a) 1 (b) α 

  (c) 0 (d) None of the above  
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 (13) Which of the following is Unit Matrix ? 

  (a) 
⎣
⎢
⎡

⎦
⎥
⎤0 1

1 0
  (b) 

⎣
⎢
⎡

⎦
⎥
⎤1 1

1 1
  

  (c) 
⎣
⎢
⎡

⎦
⎥
⎤0 0

0 0
  (d) 

⎣
⎢
⎡

⎦
⎥
⎤1 0

0 1
  

 (14) A = 
⎪
⎪
⎪

⎪
⎪
⎪1 3 5

0 2 7
6 4 8

, then find the value of A = _________. 

  (a) 54 (b) – 54 

  (c) 45 (d) – 45 

  
________ 
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1. ¸ÛóÍÛÛÁõ¶ÛÛ ¾ÛÛ¸ÛÛé ›÷¨ÛÛÈÛà ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 

x 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

f 5 10 15 25 30 17 13 

…¬ÛÈÛÛ 

 (…) ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé : 7 

x 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

f 5 8 20 30 15 12 7 3 

 (¼Û) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾ÛµýÛïõ …¶Ûé ¾ÛµýÛÍ¬Û ÉÛÛéµÛÛé : 7 

ÈÛ•ÛÙ 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

…ÛÈÛèÜ«Û 4 6 8 12 10 6 4 

 

2. Ü³ù¸Ûþùà …¶Ûé ¸Ûó¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë …¶Ûé Š¸ÛýÛÛé•ÛÛé ÅÛ”ÛÛé. 14 

…¬ÛÈÛÛ 

 (…) ÍÛ×½ÛÛÈÛ¶ÛÛ¶ÛÛé ÍÛÁõÈÛÛÇÛ …¶Ûé •Ûä¨ÛÛïõÛÁõ¶ÛÛé ¸Ûó¾ÛéýÛ ÅÛ”ÛÛé. 7 

 (¼Û) ¼Ûéˆ¡ö¶ÛÛé ¸Ûó¾ÛéýÛ ÍÛ¾Û›ÛÈÛÛé. 7 

 

3. •ÛÛÜ¨ÛÜ©Ûïõ …¸Ûé“ÛÛ¶ÛÛ Ü¶ÛýÛ¾ÛÛé (•Ûä¨ÛµÛ¾ÛÛë) ›÷¨ÛÛÈÛÛé ©Û¬ÛÛ ÜÈÛ˜ÛÁõ¨Û¶ÛÛ Ü¶ÛýÛ¾ÛÛé (•Ûä¨ÛµÛ¾ÛÛë) ›÷¨ÛÛÈÛÛé. 14 

…¬ÛÈÛÛ 
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 (…) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà –Û¤ø¶ÛÛ A …¶Ûé B ¶Ûà ÍÈÛ©Û×ªÛ©ÛÛ ˜ÛïõÛÍÛÛé : 7 

–Û¤ø¶ÛÛ A –
A  

B 0.42 0.18 

–
B  0.28 0.12 

 (¼Û) ÍÛ×ýÛäî©Û ÍÛ×½ÛÛÈÛ¶ÛÛ ÜÈÛ©ÛÁõ¨Û …¬ÛÈÛÛ ÉÛÁõ©Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ ÜÈÛ©ÛÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 7 

 
4. ¶Ûà˜Ûé¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé : 14 

 (i) ÍÛ¾ÛÜÌ¤ø …¶Ûé Ü¶ÛþùÉÛÙ 

 (ii) Ü¶ÛþùÉÛÙ¶ÛÛ ¸ÛóïõÛÁõÛé 

…¬ÛÈÛÛ 

 (…) Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û…Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 7 

 (¼Û) Ü¶ÛþùÉÛÙ¶Û …¶Ûé Ü¼Û¶Û Ü¶ÛþùÉÛÙ¶Û ªÛäÜ¤ø…Ûé. 7 

 
5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ”ÛÁõÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : (¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä¨Û) 14 

 (1) 64, 65, 64, 64, 63 ¶ÛÛé ¾ÛµýÛïõ 

  (a) 63 (b) 65 

  (c) 64 (d) 60 

 (2) 10 Áõïõ¾ÛÛé¶ÛÛé ¾ÛµýÛïõ 40 ™öé. ›Ûé …éïõ Áõïõ¾Û ½ÛæÅÛ¬Ûà 47 ¶Ûé ¼ÛþùÅÛé 74 ÅÛ”ÛÛˆ •Ûˆ ÐüÛéýÛ, ©ÛÛé ÍÛÛ˜ÛÛé 
¾ÛµýÛïõ ÉÛÛéµÛÛé. 

  (a) 38 (b) 37.3 

  (c) 39.5 (d) 36 

 (3) ›Ûé ¾ÛµýÛïõ = 40, ¼ÛÐäüÅÛïõ = 44 …¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û = 12 ÐüÛéýÛ, ©ÛÛé ÜÈÛÌÛ¾Û©ÛÛ×ïõ ÉÛÛéµÛÛé. 

  (a) – 0.33 (b) 0.35 

  (c) – 0.45 (d) 0.48 

 (4) ›Ûé A …¶Ûé B –Û¤ø¶ÛÛ…Ûé ¸ÛÁõÍ¸ÛÁõ Ü¶ÛÈÛÛÁõïõ –Û¤ø¶ÛÛ…Ûé ÐüÛéýÛ, ©ÛÛé 

  (a) A ∩ B = B (b) A ∩ B = A 

  (c) A ∩ B = 1 (d) A ∩ B = φ 
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 (5) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶ÛÛé ¾ÛµýÛïõ = ______ 

  (a) npq (b) np 

  (c) p (d) q 

 (6) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà –Û¤ø¶ÛÛ¶Ûà ÍÈÛ©Û×ªÛ©ÛÛ ¾ÛÛ¤éø¶Ûà ÉÛÁõ©Û ïõˆ ¶Û¬Ûà ? 

  (a) P(A∩B) = P(A) . P(B) (b) P(B/A) = P(B) 

  (c) P(A∪B) = P(A) – P(B) (d) P(A/B) = P(A) 

 (7) Ü³ù¸Ûþùà ÜÈÛ©ÛÁõ¨Û¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ ÉÛÛéµÛÈÛÛ ¾ÛÛ¤éø¶Ûä× ÍÛæªÛ  

  (a) P(x) = nCx px qn–x (b) P(x) =  
e–m mx
x !   

  (c) P(x) = 
1

σ 2π
 e

– 
1
2 ⎝
⎛

⎠
⎞x – r

σ

2

 
 (d) (a) …¶Ûé (c) ¼Û×¶Ûé 

 (8) ÍÛÛÁõà Áõà©Ûé ˜Ûà¸ÛéÅÛÛ 52 ¸Û«ÛÛ¶Ûà ›Ûé¦ø¾ÛÛ×¬Ûà …éïõ ¸Û«Ûä× ”Ûê˜Û©ÛÛ ©Ûé ÁõÛ›Û …¬ÛÈÛÛ ÁõÛ¨Ûà ÐüÛéÈÛÛ¶Ûà 
ÍÛ×½ÛÛÈÛ¶ÛÛ ïéõ¤øÅÛà ? 

  (a) 
4
13  (b) 

2
13  

  (c) 
4
52  (d) 

1
26  

 (9) Var(x) = __________. 

  (a) [E(x)]2 – E(x2) (b) E(x2) – [ ]E(x)
2
  

  (c) [ ]E(x) – x
2
  (d) [ ]E(x) – (x2)

2
  

 (10) ¸ÛóÊ¶ÛÛÈÛÅÛà¾ÛÛ× ½ÛæÅÛ¬Ûà ŠþÕù½ÛÈÛ©Ûà ªÛäÜ¤ø …é¤øÅÛé 

  (a) Ü¶ÛþùÉÛÙ¶Û ªÛäÜ¤ø (b) Ü¼Û¶Û Ü¶ÛþùÉÛÙ¶Û ªÛäÜ¤ø 

  (c) ÍÛ¾ÛÜÌ¤ø ªÛäÜ¤ø (d) (a) …¶Ûé (b) ¼Û×¶Ûé 

 (11) šýÛÛÁéõ ÍÛ¾ÛÜÌ¤ø¶ÛÛ …éïõ¾ÛÛé¶Ûà ¾ÛÛÜÐü©Ûà ÍÛ¾ÛÛ¶Û •Ûä¨ÛµÛ¾ÛÛë¶ÛÛ Í©ÛÁõÛé ÈÛÐêü˜ÛÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ïéõÈÛà Ü¶ÛþùÉÛÙ¶Û 
¸Û±ùÜ©Û •Û¨ÛÛýÛ ? 

  (a) ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

  (b) Í©ÛÜÁõ©Û ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

  (c) ýÛÜþùïõ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

  (d) (b) …¶Ûé (c) ¼Û×¶Ûé 
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 (12) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¸Û±ùÜ©Û¾ÛÛ× ¤øà¸Ûé¤ø¶ÛÛ× ïõÛéÌ¤øïõ¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

  (a) ÍÛ¾ÛÜÌ¤ø ¸Û±ùÜ©Û  

  (b) ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ¸Û±ùÜ©Û 

  (c) ÍÛÁõÇ ýÛþù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

  (d) Í©ÛÜÁõ©Û ýÛ´ù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÍÛæªÛ Cov(x, y) ¶Ûä× ™öé ? 

  (a) E(xy) – E(x) . E(y) (b) E(x) . E(y) – [E(x) . E(y)]2 

  (c) E(xy) + E(x) . E(y) (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

 (14) ¸Ûó¾ÛÛ¨ýÛ ÜÈÛ©ÛÁõ¨Û¾ÛÛ× ÜÈÛÌÛ¾Û©ÛÛ ______ ÐüÛéýÛ ™öé. 

  (a) ÐüïõÛÁõÛ©¾Ûïõ (b) ¶ÛïõÛÁõÛ©¾Ûïõ 

  (c) ÉÛæ¶ýÛ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 

__________ 
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1. State the measures of dispersion and calculate the standard deviation of the following 
information :  14 

x 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

f 5 10 15 25 30 17 13 

OR 

 (a) Calculate co-efficient of skewness. 7 

x 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

f 5 8 20 30 15 12 7 3 

 (b) Calculate mean and median of the following information : 7 

 Class 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

Frequency 4 6 8 12 10 6 4 

 

2. State the properties and use of Binomial and Normal distribution. 14 

OR 

 (a) State the addition and multiplication theorems of probability. 7 

 (b) Explain Bay’s theorem. 7 

 

3. State the rules (properties) of mathematical expectation and state the rules (properties) of 
variance.   14 

OR 
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 (a) Verify the Independency of events A and B from the following information : 7 

Events A –
A  

B 0.42 0.18 

–
B  0.28 0.12 

 (b) Write short note on joint probability distribution OR Conditional probability 
distribution. 7 

 

4. Explain following concepts : 14 

 (i) Population and sample 

 (ii) Types of sample 

OR 

 (a) State the types of Sampling methods. 7 

 (b) Sampling and Non-sampling errors. 7 

 

5. Choose the correct answer of the following and write. (Multiple Choice Questions – each 
of 1 mark)   14 

 (1) The mean of 64, 65, 64, 64, 63 is 

  (a) 63 (b) 65 

  (c) 64 (d) 60 

 (2) The mean of 10 observations is 40. If one of the observations is taken as 74 instead 
of 47, then find the correct mean : 

  (a) 38 (b) 37.3 

  (c) 39.5 (d) 36 

 (3) If mean = 40, mode = 44 and standard deviation = 12, then find co-efficient of 
skewness. 

  (a) – 0.33 (b) 0.35 

  (c) – 0.45 (d) 0.48 

 (4) If A and B events are mutually exclusive events then 

  (a) A ∩ B = B (b) A ∩ B = A 

  (c) A ∩ B = 1 (d) A ∩ B = φ 
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 (5) The mean of Binomial distribution = 

  (a) npq (b) np 

  (c) p (d) q 

 (6) Which of the following is not the condition for Independence of event ? 

  (a) P(A∩B) = P(A) . P(B) (b) P(B/A) = P(B) 

  (c) P(A∪B) = P(A) – P(B) (d) P(A/B) = P(A) 

 (7) The formula for finding the probability of Binomial distribution is _________. 

  (a) P(x) = nCx px qn–x (b) P(x) =  
e–m mx
x !   

  (c) P(x) = 
1

σ 2π
 e

– 
1
2 ⎝
⎛

⎠
⎞x – r

σ

2

 
 (d) (a) and (c) both 

 (8) A card is drawn from a well shuffled pack of 52 cards. What is the probability that 
it is a king or queen ? 

  (a) 
4
13  (b) 

2
13  

  (c) 
4
52  (d) 

1
26  

 (9) Var(x) = __________. 

  (a) [E(x)]2 – E(x2) (b) E(x2) – [ ]E(x)
2
  

  (c) [ ]E(x) – x
2
  (d) [ ]E(x) – (x2)

2
  

 (10) The error arising due to mistake in questionnaire means  

  (a) Sampling error (b) Non-sampling error 

  (c) Population error (d) (a) and (b) both 

 (11) When the information of population distributed in equal qualities strata then what 
this type of random method ? 

  (a) Random sampling method 

  (b) Stratified random sampling method 

  (c) Systematic sampling method 

  (d) (b) and (c) both 
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 (12) In which method the Tippet table is used ? 

  (a) Population method  

  (b) Coefficient of correlation method 

  (c) Simple random sampling method 

  (d) Stratified random sampling method 

 (13) Which is the formula of Cov(x, y) from the following ? 

  (a) E(xy) – E(x) . E(y) (b) E(x) . E(y) – [E(x) . E(y)]2 

  (c) E(xy) + E(x) . E(y) (d) None of the above  

 (14) The skewness of normal distribution is 

  (a) Positive (b) Negative 

  (c) Zero (d) None of the above 

__________ 
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